44. Rings are readily prepared by means of intramolecular SN2 reactions. An ex-
ample and its mechanism are:

Acid-base

R, reaction O
CICH,CH,CH,CH-,O—H + “OH H,O + CH,CH,CH,CH,O™ ——> -
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gCl
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displacement reaction

Explain the outcome of the following transformations mechanistically. (Hint:
Notice in the example how an acid-base reaction leads Lo a stronger nucleo-
phile at one end of the molecule. Use this in your answers.)

(a) HSCH,CH,Br + NaOH ~SHCHOH, N/

(b) BrCH,CH,CH,CH,CH,Br + NaOH ~—-2> O
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(¢) BrCH,CH,CH,CH,CH,Br + NH, ——=>1s O
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